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Chapter : Simple and Compound Interest

(1) A sum fetched a total simple interest of Rs 1200 at
the rate of 7.5%/yr in 4 years. What is the sum (in Rs)?
U TA 7 4 AT F 7.5%/a 6T T T 1200 F T ATIROT
SITST e | g TR (7 /) Far g7
SCCGL2017-22AUG-S2 : 60
(a) 4000 (b) 6000 (c) 8000

(d) 7500

(2) The difference of compound interest and simple
interest for 3 years and for 2 years are in ratio 23 : 7
respectively. What is rate of interest per annum (in %)?

39 % ford ar 2 a9 & fordr <rshaefer sarer 3l
HIEROT TTST o STl S ITcRT AT 3T dTcl HaAT: 23 : 7 &
STST T AT &X (% H) FAaeir &2
SCCGL2017-08AUG-S2 : 60
(a) 200/7 (b) 100/7 (c) 300/7

(d) 400/7

(3) The simple interest on a sum of money for 10 years
is Rs 3130. If the principal becomes 5 times after 5
years, then what will be the total interest (in Rs)
obtained after 10 years?
Teh T X 10 I T AT <47 3130 T8 1 AfE 5 9
STE; AL 5 [T 81 ST &, Y 10 Y & ae; el febctar
STST (% H) Ted grem?
SCCGL2017-08AUG-S3 : 60
(a) 6260 (b) 7825 (c) 9390

(d) 15650

(4) A sum of Rs 720 amounts to Rs 882 at simple
interest in 1 %2 years. In how many years will the sum
RS 800 amounts to RS 1040 at the same rate?

720 % ¥ 112l 1 1% gt 7 GremRoT saTer ¥ 882 T &Y A &,

fohcteY aSt 3 800% T I THTST &7 § 1040 T &1 SITwaiy?

SCCGL2017-10AUG-S1: 60
@3 (b) 2 (€4
(d) 6

(5) The simple and compound interest that can be
earned in two years at the same rate is Rs 1,000 and
Rs 1,040 respectively. What is the rate (percent per
annum) of interest?

AR AR Tshdefe sarel, A ar AT A v a7 &
37TSTd TR ST TehaT &, 98 AL 1,000 T 3T 1,040 ®
&1 =TTt &T (% 9T av) et 87
SCCGL2017-21AUG-S3 : 60
(@9 (b) 10 (©) 8

(d) 11

(6) Simple Interest received by a person in 10 years on
a principal of Rs 9500 is 130% of the principal. What is
the rate of interest (in %) per annum?
Teh g febel o 10 st & 9500 & & FeTEleT U HeTereT
130% |TEIROT SATST UTCd fohdT & sTTST T aTfiieh a3 (%
) FAT 82
SCCGL2017-11AUG-S3 : 60
(a) 12 (b) 13 () 15

(d) 19

(7) What is the compound interest (in Rs) for 1 year on
a sum of Rs 20000 at the rate of 40% per annum
compounding half yearly?

20000 &. 9¥ 40% T aTi¥eh g & a1 gaetet W
TH Iy H
Thde Y AT (2. ) FAT 87
SCCGL2017-05AUG-S3 : 60
(a) 8000 (b) 8650 (c) 8750

(d) 8800

(8) A person lent Rs 10000 to B for 3 years and Rs
6000 to C for 4 years on simple interest at same rate
of interest and received Rs 5400 in all from both of
them as interest. What is the rate of interest (in %)?

Teh <gfad B &1 3 9§t & foIT 10000 T AT C &1 4 It &
T 6000 T AT &I X ATLRUT sITT I 3YUR ST § AT
2T @ el 5400 T SATST & T F GTCd Il & | 51T T
T (% H) FATR?
SCCGL2017-10AUG-S2 : 60
(a) 10 (b) 12.5 (©) 15

(d) 20
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(9) A sum of Rs 400 becomes Rs 448 at simple interest
in 2 years. In how many years will the sum of Rs 550
amounts to Rs 682 at the same rate?
400 %. ST U A T Iuf 3 ATYROT sATST I eI T 448 .
BY ST &1 THATT &I W fohctey auf & 550 . T TR 682 %.
g STuaT?
SCCGL2017-10AUG-S3 : 60
(@2 (b) 3 ()35

(d) 4

(10) A person invested a total sum of Rs 7900 in three
different schemes of simple interest at 3%, 5% and 8%
per annum. At the end of one year he got same
interest in all three schemes. What is the money (in
Rs) invested at 3%?
Teh T 7900 &. ST el TR T FTLROT <ATST Y
a1 3 3%, 5% TAT 8% ATell T A1STAT3T 3 faraer
FAT & T ¥ oh 3 H 39 il AIoTearAT § FHATeT STt
9T §31T| 3% T & IX 38 GaRT fAIRT Y 375 R (2.
#) Reere &2
SCCGL2017-12AUG-S3 : 60
(a) 2900 (b) 3500 (c) 4000

(d) 5600

(11) What is the difference (in Rs) between the
compound interests on Rs. 4000 for 1 year at 12% per
annum compounded yearly and halfyearly?
1 976 % TIT 4000 & R HTEATEAT 12% Tshde [ sTTeT BT
EX W UTed aTfies 3R ACHaTSe aTsT (3 #) #H 37 3}
gram?
SCCGL2017-17AUG-S1 : 60
(@) 144 (b) 12.4 (c) 104

(d) 16.4

(12) A, B and C invested amounts in the ratio 3:4:5
respectively. If the schemes offered compound
interest at the rate of 20% per annum, 15% per annum
and 10% per annum respectively, then what will be
the ratio of their amounts after 1 year?

A, B TUT C Sh&: 3 : 4 1 5o 37eIuTel & TR T fder i
g1 Tfe ASTAT3T # FHF: 20% TR, 15% TS 4T
10% a1 T e & TSI ST T AT &, A T
aY TRl 3efehl RIS ST JTeTUTCT T BIamT?
SCCGL2017-09AUG-S1 : 55

(@ 3:15:25 (b)6:6:5

(c)36:46:55 (dy12:23: 11

(13) The difference between the compound interest
compounding half yearly for 1 year and the simple
interest for 1 year on a certain sum of money lent out
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at 8% per annum is Rs 64. What is the sum (in Rs)?

1 99 & <Ishge e sTToT AT 1 aY o HILROT s7oT 3 fohefy
AR Ufdr & 3uR g W 8% Fr i eI )
AT FATSTeT H 64 T I 3T 1T & | T2 (T F)
FTE?

SCCGL2017-09AUG-S1: 60

(a) 40000 (b) 42000 (c) 44000
(d) 44800

(14) If Rs 2500 becomes to Rs 2970.25 in 2 years at
compound interest compounded annually, then what
is the yearly rate of interest (in %)?

I 2500 %. &1 st # Tshae [ saTS & ATf¥eh FhIoTal &
2970.25 %. 5T ST &, Y aTf¥eh sTTeT &X (% #) fFaer &7
SCCGL2017-09AUG-S2 : 60
@7 (b)9 (©) 11

(d) 13

(15) For an amount, simple interest at the rate of
interest of 12% per annum for 6 years is Rs 25920.
What will be the compound interest (in Rs) on same
amount at the rate of interest of 8% per annum
compounding annually for 2 years?

T TR R 129 1 a1fdes X & 6 qT &7 ATUROT SATT
25920 %. ¥ 3T A TR 8% hr a1fiieh & & a1fien
TLTSTeT O 2 TS o Tshae e SATST (2. ) &1 gIam?
SCCGL2017-11AUG-S1 : 60

(a) 43263 (b) 5563.4
(d) 5990.4

(c) 5888.6

(16) If a certain sum of money doubles itself in 7 years
8 months at simple interest, then what will be the
yearly rate of interest (in %)?

Ife 7 9§ 8 AfRSAT 7 ATUROT saToT Y 2T § Teh [AfRaa
TR T & gITA 81 ST, oY arfdeh sarst X (% #) F41
greme?

SCCGL2017-11AUG-S2 : 60

(a) 18 » (b) 13/ (c) 26 2/ (d) 30

(17) The difference between compound interest and
simple interest on a sum for 2 year at 20% per annum
is Rs 200. If the interest is compounded half yearly,
then what is the difference (in Rs) between compound
and simple interest for 1st year?

20% T aT¥eh &T A Thga e sTTsl TUT AIURT sATST H

2 St T 37X 200 & | A STTST T TS AT g,
Y Tgel a¥ o Tshde e YT WIYUROT SATSl # fehctar 3k
FH) 7
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SCCGL2017-12AUG-S1: 60
(a) 50 (b) 75 (c) 100
(d) 150

(18) If a certain sum of money become thrice of itself
in 5 years 4 months at simple interest, then what will
be the yearly rate of interest (in %)?
Ife 5 a¥ 4 AL H TTYROT sITST T &I A T AT
R T & T 81 el &, a arfien saret &3 (% #)
a7 grefr?
SCCGL2017-12AUG-S2 : 60
(a) 18.75 (b) 27.5 (c) 375

(d) 42.25

(19) A certain sum of money amounts to Rs 918 in 2
years and Rs 969 in 3.5 years at simple interest. What
is the rate of interest (in %)?
Te AT Ufr aremuT sarg fr ey A ar st #918 %
TUT 3.5 INT 3 969 F. &Y AT & | SATST I &< (% H) FAT
£70s fATRTd TTRY ATURoT s3TeT & g A ar a6l 7 918 &.
U7 3.5 IuT F 969 F. & AT & | SITST T &3 (% H) FAT &2
SCCGL2017-09AUG-S3 : 60
(c) 6
(d) 8

(20) A sum amounts to Rs 7727.104 at the rate of 12%
per annum compounded annually after three years.
What is the value of principal (in Rs)?

Tk T 12% AT &3 § 3 a¥ 96, a1 TA ST FLed
T 7727.104 T 1 ST & | FeTIol 3T Al &. H HAT G2
SCCGL2017-16AUG-S1 : 60
(a) 5000 (b) 5200 (c) 5350

(d) 5500

(21) A person lent certain sum of money at 10% per
annum imple interest. In 20 years the interest
amounted to Rs 500 more than the sum lent. What
was the sum lent (in Rs)?

Teh qIH(d fohal fereifaa IMRY & 10% T arf¥eh ex &
HTYROT TATS TR 3YUR &l g | 20 TuF H G 31T I
MR, 3R &7 18 TR T 500 F. 377 g A & | SUR &
LERURRCH ERIEIK

SCCGL2017-16AUG-S2 : 60
(a) 200 (b) 500 (c) 1000

(d) 250

(22) Rohan borrowed a certain sum of money at
simple interest. Rate of interest was 3% per annum for
first 3 years, 4% per annum for next 5 years and 6%
per annum for next 7 years. If he paid Rs 2059 as
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interest, then what is the sum borrowed (in Rs)?

AgT T AR TR ol TTUROT TS TR 3UR AT 8|
FATST T &I Igor 3 TN & folT 3% ATV, 379Ter 5 ANt &
TIT 4% aTi¥es 2T 30Tel 7 aut & fIT 6% arf¥er &1 afg

ag
2059 &. SATST o &9 H YeHICT ¢, o SR ol 71 TR (%,
;) paTR?
SCCGL2017-16AUG-S3 : 60
(a) 2400 (b) 2500 (c) 2900

(d) 3100

(23) If the amount received at the end of 2nd and 3rd
year as Compound Interest on a certain Principal is Rs
2100, and Rs 2268 respectively, what is the rate (in %)
of interest?
I T AR Fererel I Thdefe AT garl gar 3R
X I 99T glet aTelt T shaAer: 2100 &, 3T 2268 TR,
ar ST T (% H) FHIAT gIefr?
SCCGL2017-17AUG-S2 : 60
@7 (b) 8 @9

(d) 10

(24) If in 2 years at simple interest the principal
increases by 18%, what will be the compound interest
(in Rs) earned on Rs 7000 in 3 years at the same rate?
1A 2 ST 3 [IEROT AT Y & W FHeAereT 18% & a6
€, @1 7000 & 9% 3 a8t 3 3¢ &3 W) 31foTeT wehae e et
(3. ) AT grIM?

SCCGL2017-17AUG-S3 : 60

(a) 1865.2 (b) 2065.2
(d) 1765.2

(c) 1965.2

(25) The simple and compound interest that can be
earned in two years at the same rate is Rs 1500 and Rs
1575 respectively. What is the rate (% per annum) of
interest?

ST st 3 FATT &Y W HToid g1 Fehel dTel ATURT 3R
Thde [ SATST HAT: 1500 &. 3R 1575 T. &1 ST & (%
gfd ag 7 ) fraei 82
SCCGL2017-18AUG-S1 : 60
(a) 8 (b) 10 (© 12

(d)5

(26) If compound interest received on a certain
amount in the 2nd year is Rs 1200, what will be the
compound interest (in Rs) for the 4th year on the
same amount at 10% rate of interest?

I vk frerfara Tfd o g@r a ure awae e s
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1200 %. &, ar 3T 72t WX 10% SATT X & Y a7
ThE [ qATST (T, ) fehctar gom?
SCCGL2017-18AUG-S2 : 60
(a) 1452 (b) 1320 (c) 1552

(d) 1420

(27) The compound interest earned in two years at
15% per annum is Rs 20640. What is the sum invested
(in Rs)?

ar ast & 159 gfcray 1 &3 @ 3Tt Thdefe sarer
20640 %. g1 foraer & ars eft (3 ) et 82

SCCGL2017-18AUG-S3 : 60
(a) 64000 (b) 60000 (c) 56000
(d) 52000

(28) Ganesh invested an amount of Rs x in a fixed
deposit scheme offering 5% per annum for 1st year
and 15% per annum for 2nd year and received an
amount of Rs 9660 after two years. What is the value
of x (in Rs)?
ITOTer 7 Ueh fARARIT STAT AT I x FIT 7 [ &7 1 aW
& o 500 Ty ¥ &Y &3 & 3R @ v & forw 15% wfer
as T ax & feraer fomar 31X ar arer a1e 9660 T St WA
9T S| X (. #) T ATA HAT gIIM?
SCCGL2017-19AUG-S1 : 60
(a) 9000 (b) 8000 (c) 8500

(d) 8200

(29) If the amount received at 10% per annum
Compound interest after 3 yrs is Rs 19965, then what
will have been the principal (in Rs) amount?
I 3 a9 a1 10% 9 a¥ Tshaefer samst o T afy
19965 . ¥ | A Hertral TR (%. #) T @Y grefre
SCCGL2017-19AUG-S2 : 60
(a) 16000 (b) 15000 (c) 17000

(d) 18000

(30) An amount fetched a total simple interest of Rs.
3200 at the rate of 6.25 %/yr in 4 years. What is the
amount (in Rs)?

T T 4 AT F 6.25% I§ T & & 3200 F. HT TH
TTEROT SATST 9T T | ag TR (&, ) fhaeir g
SCCGL2017-19AUG-S3 : 60

(a) 13800 (b) 11800 (c) 12800
(d) 14800

(31) If in 3 years at simple interest the principal
increases by 18%, what will be the compound interest
(in Rs) earned on Rs. 25,000 in 3 years at the same
rate?
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I 3 ot # ATROT TATS R FALT 18% & TG 1T 8,
oY 38T &Y R 3 ATl A 25,000 &, W TS Tehgefer sarst
(. #) FATIa?

SCCGL2017-20AUG-S1 : 60

(a) 47754 (b) 57744
(d) 5575.4

(c) 4557.4

(32) At what rate of compound interest (in %) per
annum will a sum of Rs. 15,000 become Rs. 18,150 in 2
years?

9 a¥ Tehad AT & FT T (% 7 ) ¥ 2 Irer 7 15,000
% for Tfer 18,150 T g Sirwafy 2

SCCGL2017-20AUG-S2 : 60
(@M (b) 10 (©)9
(d) 12

(33) In 4 years at simple interest the principal
increases by 32%. What will be the compound interest
earned (in Rs) on Rs. 24,000 in 3 years at the same
rate?
I 4 AT 7 FTROT SATST I FALTT 32% 8 &6 ST €,
oY 3T &T 9 3 ATl # 24,000 & W TSI Tshde e ST
(®. #) FHIT gIM?
SCCGL2017-21AUG-S1: 60
(a) 5233 (b) 6332 (c) 5332

(d) 6233
(34) The amount received at 10% per annum
Compound interest after 3 yrs is Rs 5324. What was
the principal (in Rs)?
3 aY & dTE 10% ST I <Ushdefer TSl U YT TR
5324 T | HAU (S9Y H) FHT AT?
SCCGL2017-21AUG-S2 : 60
(a) 4100 (b) 4200 (c) 4000

(d) 4300

(35) If compound interest received on a certain
amount in the 3rd year is Rs. 1,240, what will be the
compound interest (in Rs) for the 4th year on the
same

amount at 9% rate of interest?

3R Teh fARifd TR o AR ¥ & g1 Tshdee
AT 1,240 T, &, A 38T TR 0¥ 9% FI X W AT a§
H 919 Tshdee ST (%, #) HATE1am?
SCCGL2017-22AUG-S1 : 60

(a) 1245.6 (b) 1521.6
(d) 1220.6

(c) 1351.6

(36) Albert invested an amount of x rupees in a fixed
deposit scheme offering 10% per annum for 1st year
and 15% per annum for 2nd year and received an
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amount of Rs 20,240 after the two years. What is x (in
Rs)?
a%éﬁwﬁﬁﬂammﬁxmﬁﬁwl
ay & forT 10% 9 ¥ & &3 @ 3R g a¥ & fov 15%
afe a¥ 7 g3 & fAaer foram 3R & Arer 916 20,240 TV |
X (3 H)Farg?

SCCGL2017-22AUG-S3 : 60

(a) 15000 (b) 16000 (c) 14000
(d) 18000

(37) What is the difference (in Rs) between the
compound interests on Rs. 1000 for 1 year at 10% per
annum compounded yearly and half-yearly?

1000 &9 TX 1 &Tel & TAT 10% Ticiay Thgfer e &
F1f¥es 3R Y ATTF FI F TR T Tohad! AT
fohdeY (F9 & ) 3T g
SCCGL2017-23AUG-S1: 60
(@15 (b) 0.5 (c) 2.5

(d) 3.5

(38) The compound interest earned in two years at 8%
per annum is Rs 4160. What is the sum (in Rs)
invested?

ar |l # 8% Ffciay Y &3 & 3fSTeT Tshgefer 4160 3 8
foraer & a1 el (3 7 ) &7
SCCGL2017-23AUG-S2 : 60

(a) 24000 (b) 25000 (c) 30000
(d) 20000

(39) A sum fetched a total simple interest of Rs.5,400
at the rate of 12.5 %/yr in 4 years. What is the sum (in
Rs)?
Teh A ¥ 4 auf 7 12.5% / I ¥ &7 A 5,400 T T
HTYROT sATST 9Ted 7T | ag i (3 &) Farg?
SCCGL2017-23AUG-S3 : 60
(a) 11800 (b) 12800 (c) 9800

(d) 10800

(40) A person lent certain sum of money at 5% per
annum simple interest and in 15 years the interest
amounted to Rs 250 less than the sum lent. What was
the sum lent (in Rs)?

e fed fnd R8T meirar 5% Sy aifs e a
TTEROT $ATST R IUR ST § JAT 15 ast H FAfd sa1er
Hr e IR & 7S TRV 250 T . FA &1 IUR & 718 TR
(8.3.) forcer o1?
SCCGL2017-05AUG-S1 : 60
(a) 1000 (b) 1500 (c) 2400

(d) 3000
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(41) The compound interest earned in two years at
12% per annum is Rs 10176. What is the sum (in Rs)
invested?

12% JicT a9 T X & 2 a8t & ToT 37foid Tshgeie sarsT
10176 %. | frarer fr s Uiy (3. /) AT §?
SCCGL2017-06AUG-S1 : 60

(a) 50000 (b) 60000 (c) 40000
(d) 80000

(42) The simple and compound interest that can be
earned in two years at the same rate is Rs 4000 and Rs
4180 respectively. What is the rate (percent per
annum) of interest?

& auf 7 FATT g3 9T 31ToTd &1 Tehet dTel TTURTT 3R
TSI HHA: 4000 T HIT 4180 T & | S4TST & (% Tl
a9) frcet &2
SCCGL2017-06AUG-S3 : 60
(a) 18 (b) 4.5 ©9

d12

(43) A certain sum of money triples itself in 5 years at
simple interest. In how many years it will be five
times?

5 gt & Ueh [ Rara TRy FTenvoT saret &y a3 O T a1

Mt 37T BT STt & | fohctet oSt % 3 | T g1 SIe?
SCCGL2017-08AUG-S1 : 60
@5 (b) 8 () 10

(d) 15

(44) If the amount received at the end of 2nd and 3rd
year at Compound Interest on a certain Principal is Rs
1,800, and Rs 1,926 respectively, what is the rate of
interest?
g T TATAT FHeTereT oY Tehictid TR g@R d e a¥ o
37 & 9o 1 1S TR FHAL: Rs. 1,800 31 Rs. 1,926 §,
AT saTeT T Ig X FAT?
SCCGL2017-20AUG-S3 : 60
(@) 7.5% (b) 7% (c) 6%

(d) 6.5%

Answer Key

1 1A]2 |A|3

6 (B|7 [D|8

C
B|7 |D|8 (A
111A|12|C|13]A
16|B|17|A|18|C
21|B[22[C|23(B
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Solution

(M

Sl= (p x r x t)/100
1200= (p x 4 x 7.5)/100
p=4000

3)
(Pxrx10)/100=3130

A/Q, (Pxr/100x5)+(5Pxr/100x5)=Pxr/100(5+25)
3130x30/100=9390

“
P =720 A =882
= Interest = 882 — 720 = 162

162X100 X2
Rate = ————=15%
7203

Now, P = 800, A = 1040

~ SL =240

Rate = 15%
240x100
800x15
= 2 years

~ time =

(5)

Let the sum=Rs.100x and rate of interest=r%
Time period=2 years

Simple interest=Pxrxt/100
100xrx2/100=1000

2rx=1000

X=1000/2r=500r

Compound intrest P(1+r/1000-t)
100(1+rxr/10000+2r/100-1)
100x500/r((1+r/100)2-2r/100)="1040
5r+1000=1040
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5r=40
R=8%

(6)

P =19500, t = 10years, SI=19500 x% =12350

12350 100
Rate = —— "% — 1304

9500 x 10

() ,
€1=20,000 (1 + =-)" — 20,000
200
- 8800

(8)
10000 x 3 xr 6000 x4 xr = 5400
100 100

Solving for r we get r = 10%

)

2 year interest = 448 — 400 = 48
1 year interest = 24

Rate = 24/400 x 100 = 6%

682 — 550 = 550x6xt/100

1320 =55%x 6 x t

t =4 years

(10)

let Amount x,y,z

Interest

=3% of x = 5% of y = 8% of z =K
x:y:z=k/3:k/5:k/8

=40:24:15

Money Invested at 3%=40 / 79 x 7900 =4000Rs

(m
In first case, t = lyear p =4000 r=12%
- 4
ca=p(1+=) —P

3 1
=4000 (1+2Z) — 4000
After solving
=480
In second case,
t=2,P=4000r=6%
CP = 4000 (£ x 22) — 4000
After solving
= 49440
Difference = 494.40 — 480 = 14.40

(12)

Let amount invested by A, B and C be Rs. 300, 400 and

500 respectively for 1 year.
Amount under compound interest

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

P (1+ r/100):
So A will get 360 B will get 460 and C will get 550
Ratio of their amount is 360 : 460 : 550 or 36 : 46 : 55

(13)
Let the given sum be 100x
R=8and T=1year

Cl=1[P(1+R/200)x-1]
Solving we get  204x / 25

S1=P*R*T /100
Solving we get 8x

Difference between C 1 & S |
(204x/25)—-(8x) =64
Solving for x we get 400 so value = 400*100 = 40000

(14)
Principal =2500
Amount=2970.25

2
2970.50 = 2500 (1 +

i
%)

=9%

(15)

p x I x t/100=25920

p x 12 x 6 =25920 x 100
p=36000

104

= 36000 x %
= Rs. 5990.4

(16)
Let principal be Rs P.
And rate be R%

According to Question
- B
PxRx.fF
100
100=3 300
R =" 53 = *¥/5s

R=13"%

(17)
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We know for 2 years.

Difference (d) = P™/100: [P - principal
2 r — rate
p = 22299 _ Rs. 5000
20x20
Compound interest if compounded half yearly
2t

)
:[l + 2| = [t - time]
100

110

= 5000 [100]2 ~ 5000

C.I=6050-5000 = 1050

= i Xrxt
Simple interest =%
_ 5000x20x1

- 100
= 1000

~ Required difference = 1050 — 1000 = Rs. 50

(18)
Let principal be x
So interest = 2x

.‘L‘X%XI“
2 =
100

r=375%

(19)

Let the sum be P and simple interest of 1 year be SL

According to Question

P+ 3.551=969 (i)
and P + 2 51 = 918 ()]
Subtract (i) from (i)

1580 =51

SI=Rs. 34

Put the value of SI any of eq"
P+2x34=918

P=918-68

P = Rs. 850

Let the rate of interest be R%
. 34 o, B0 xR x1

100

=R=4%

(20)

7727.104 = P (1 + 12/100)3
= P (28/25)3

= Rs. 5500

21

Sl = PRT/100

= P +500 = P x 10 x 20/100
= P =500

(22)

Total Interest
3x3+5%x4+7x6
=71%
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71% =2059
1%= 29
100 % = 2900

(23)

Difference of interest = 2268 — 2100
=168
P=2100 T=1 Year
Interest X100 168 X100 _

Rate% = =

8%
P <tIME 2100 x1

(24)

Let the principal be 100P

=~ 18P = 100PxRx2/100
R=9%

~ Required

Cl = 7000 x [(1 + 9/100)3 - 1]
= 7000 x [(1.09)® - 1]

Cl = 2065.2

(25)

In 1 year Cl and Sl is same =750

Cl for Rs 750 in 1 year=75

Rate of interest = 75/750 x 100 = 10%

26) .
Amount = 1200[1 3 11700)

= 1200 x 121/100
= Rs 1452

27)

ATQ

Cl=p [(1+r/100) - 1]

= 20640 = p [(1 + 15/100)* -1]
= p = Rs 64000

(28)

We know for distinct ‘rates of interest for distinct time
periods

A=P(1+r/100) (1 + r.,/100)

= 9660 = px (1.05) x (1.15)

= P = Rs 8000

(30)

ATQ

SI = (pxrxt)/100
3200 = 6.25x4xP/100
P = 12800

31
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Let the sum invested at SI be "P".
- 0.18p = PXRx3
100
R=6%
Now, Cl earned on Rs 25000 for 3 years at 6% is
CL = 25000 {(1 + 6/100)* -1}
= Rs 47754

(32)
We know that.

2
e - r
18150 = 15000 (1 + E)
i1 10041 r 11—10
—_——= — — =
10 100 100 10

=1=10%

33)
Interest for one year = 3{— = 8%

r 3
So,CI=>P[1+m P

= 24000[[1 + R] - 1]
108 108 108

= 24000[12 x 12 28 _ 4]

100 100 100

= 6233.08

(34)

Let the principal be ‘P’

ATQ = 5324 = P (1 + 10/100)
+ P = 5324x1000/1331

P = Rs. 4000

35)
Amount after 3 years = Rs. 1240
Rate of interest = 9%

« Amount after 4™ year = 1240 + 222X

= Rs. 1351.6

(36)

ATQ

x x 110/100 x 115/100 = 20240
~ x = Rs 16000

(42)

51 Cl
1year 2000 | 2000
2rdyagr | 2000 | 2180

o180
Rate % = e * 100

= 9%
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